4.3B Warmup

1. Determine the approximate value of ~ \JS€ CG\;\C%\G\A‘O\(

a) tan(8.2) b) csc(-91°) = —|.000)

sin(-%1%): - 9998
¢) cos(-3.14) d) sec(-89°) - 53.2000
{.000 Cos(-84%) = 0.0134S

2. Determine the exact value of  w.Se, 5’]:£cja.l "I'rrar\'j\e,f,.

a) sm 85 = Slr\(‘rsﬂ).. S\n( )b) csc(—%ﬂj Sin (“_%[):-zl
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3. If P(—0.6, 0.8) lies on the terminal arm of 0 on the unit circle, what is

a) coso b) sin6 C) tan®
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Why do you know that P (-0.6, 0.8) lies on the unit circle? ‘I‘Cn Ja—
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4. s cos(%j:cos(lwo)? Explain.

\J’e’s‘ 6‘2 ond  150° are co\f(mi\no\,\ omales 1g!
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® Find celoence cms\t’; -use inverse trig fun

@ Find +the anﬁ\e;*r;mr

Example 1: Determine the measure of all angles tha
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satlsfy the given conditions.
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a) cose =—0.738 0< 0<2m

GIVG answers'%#'he neareQ[%L?"élre%t?m ofa

Which quadrants will the answers be in?

radian.
cos e“ = +. 138 \ How many answers will there be?
Or:= CDS-‘(..:'%B) O O<£O<KL )T covers
Or: .07 }j £l rotedion.
G2: ©=T-. 0% Theee ace ) soluhons
©= 2.4007 n QL 5 Q3
o
Q3: 0= T+.Hi0} "
6= 3.8823
b) sin 6=0.315 0< 0<360° Which quadrants will the answers be in?

Give answers to the nearest tenth of a degree. @l ond 2
4mOp= 0.315
; How many answers will there be?
Or= 3n™ (.3‘5) : .
. 2. solubons in
Oe= 8.4
@l'- @= )Bv"‘o | m-}o.:\'t‘on'
Q2: ©- I1B0-18.4°
©= 16l1.6
A_C) o 1 _180° < 0 <180° Which quadrants will the answers be in?
C J3 B

Give exact values.

30°
Q2: &= IB0
b © = 150
Ber:= 230°
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How many answers will there be?

().. solwhons In

| rotation.

ay: ©: O -30

6= -30°



Which quadrants will the answers be in?
d) csc=— -3n< 0<n
\/§ -Zv0’ 1’0 (o) ond Q@ Z
Give exact values. N
CSCOg- + % K How many answers will there be?
) - 2 rolodiovs SO
B :
/ 4 Dossible soludions
l - o T+ > . - 57
Q\: B= 60" or 1; Qll: 6> -300 or 3
G2 9= 120° or B Q20 -0 or -4
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Example 2. The point Q(5, —12) lies on the terminal arm of an angle 6. Determine the exact value of
each of the trigonometric ratios and the smallest positive value of 6 in radians.

Is the point Q(5,-12) on the unit circle? Explain.

not on  unit cide 5%+ (- # |
divs = % &,y |re13
Unit circle approach Non unit circle approach
=12) not on unt .Y .- _ =13
3/, (51 n nun lsmls £ = st "7
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‘Pmclwi&e is the same ag / \
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**Example 3. When you keystroke sin™ (EJ on your calculator, is your calculator giving you “the”

R 1
angle whose sine is > or “an” angle whose sine is E?

. 1 i
When you keystroke sin™ (—EJ on your calculator, what are you asking your calculator to do? Why do

you think your calculator gives you the answer it does?

What is sin [sin1 @

What is sin [sin1 (—%D ?
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What is sin™ sin(%)j ?

What is sin™*| sin (%ﬂ

What is sin*| sin (%D ?



